Segment/Angle Proofs - Geometry Section 2.7 Name: K\a y

A. Start - WHAT ARE WE GIVEN??? — Write this Down FIRST!

B. End- Yes, look at this SECOND- where do we need to end up?

C. Middle- Make a PLAN to get from the start to the end

0o

GIVEN: DG=11

What vocab are we given? Anything from the diagram?? - WRITE THESE DOWN! ©
Can we rewrite any of our segments or angles as an equation that would be helpful?
Will the transitive property or substitution property be helpful?

Do we need to switch between congruence and equality?

GF=11
PROVE: DG = EF
STATEMENTS REASON
1D(j=”’GF:H)(7F§EF 1. Gien
2. DG = GF , Substitution GO = Transtive PO =
3.8 D6 = GF 3. Definition of Congruent Segments
4 D6 = €F 4. Tronsitine PO =

GIVEN: 26 = 27
PROVE: £5 = «£8

REASON

STATEMENTS

1 L6 =L 1 Given

2. L6 =45 2. VA Thm.

3. L1 = L3 3. Vertical Angles Theorem

4. L5 & L1 4. Transitive Property of Congruence

s L5238

5 Transihive PO &




GIVEN: 2£ABD is aright angle
£CBE is aright angle
PROVE: 2ABC = £DBE

STATEMENTS REASON

1 LABD is a right oangle 1 Given

LCBE IS a right angle

2. m£ABD = 90°, m«CBE = 90° 2. De €n. of right L

3. mzABC + m{CBD = m£ABD 3. AAT

msDBE + mlCBD = m4CBE

[ ]

4 MLABC + mLCBD = 90 4. Substitution Property of Equality.

= 90°

mLDBE + mlCOD =10
5. m£ABC + mCBD = mzDBE +mCBD 5 Substition PO = [ Transitive PO=
6. MLABC =mL D&e 6. Subtraction Property of Equality
7. 2ABC = £DBE 7. Defn. of = Segments
N

GIVEN: £2 = /3 Yz\
PROVE: 21 = 24 , 3

**BEFORE YOU START WRITING- Look at the information you are given AND the picture. What do
you already know? How can you use this information to PROVE the final statement. Once you
have a plan- start with writing everything you originally knew...then follow through with your

plan...
STATEMENTS REASON
1) Lo % L3 ) Grven
2) L2 LD 2.) VA Thm.
L3 =2 LM
3,) Transitive PO 22
3.) L) =2 L3
q.) Transitive €0 =
) L1 =LY




PROVE: 45 = 5C y ; :
STATEMENTS REASON

1) 246 = AC 1) Given

1) AB + BC = AC LY SAP

’5) AR +B3C = 2ARB 3,) SubstitvFion PO = /Tro\nsf-l'l'\,{, Qo =

4y eC = AL 4.) Subtraction €O =
5’5 A = BC 5,) Symmetic PO =
GIVEN: mz1 + mz2 = 180° \
mel = 62° ) 1\ 2

PROVE: mz2 = 118°
STATEMENTS REASON
1) mel + mi2 = (30° mLl =637 1) Given
1-) Substitution FO=

)) 62° + ml = 180°

3.) mi) = 1% ° 3.) S ubtractiioh Po =
R
GIVEN: RT =5
RS =5 s S w5
RT =TS ‘
PROVE: RS =TS T t s
STATEMENTS REASON

ap—

1) RT=5, #5=5, RT & T< 1) Given

’L.) Sub stivtion Po = /TV&HS;H‘VL PO =

%) RT=RS
2.) RT & RS 3.) Defn. of 2 Segmwants
H-) RS &2 T< ‘—[.) Transitive PO &2




